



The tools to learn. Delivered your way.

Back to School 2017–2018.

Well equipped learners. Choose your way.

\$50

The Athlete's Foot gift card.

Spend \$200 or more and receive a \$50 The Athlete's Foot gift card.*

Offer valid for the first 150 orders placed with a value of \$200 inc GST or more through winc.com.au/backtoschool.

\$20

The Athlete's Foot gift card.

Spend \$100 or more and receive a \$20 The Athlete's Foot gift card.*

Offer valid for the first 750 orders placed with a value of \$100 inc GST or more through winc.com.au/backtoschool.

*Terms and Conditions apply. Promotion commences on 01/10/2017 and closes 28/02/2018.

Visit winc.com.au/backtoschool for full terms and conditions.



The tools to learn. Delivered to your door step.

We believe learning is an exciting experience and that it should be a pleasure, not a chore. To meet all of your educational needs, we have partnered with your school to create a list of products that match the curriculum. The attached list can be ordered through winc.com.au/backtoschool.

Follow the guide below for a simple, easy and secure way to give your child a fresh start to the school year.

School Name:	International Football & Tennis School
School Year:	Stage 3
School ID:	368261

Ordering guide.

- Visit winc.com.au/backtoschool
- 2. Click "Sign In" and enter your School ID
- 3. Follow the prompts
- Place your order



Delivery information.

Free delivery on all orders placed on winc.com.au/backtoschool.* If you are unsure if you will be home on the day of delivery please select the Authority to Leave option on the website. See winc.com.au/backtoschool for all terms and conditions and important information about your order.

Returns & product substitutions.

If a product is unavailable at the time of packing, it may be substituted with a similar product of the same or greater value. If you have changed your mind and would like to return your goods, Winc will offer you a credit. Exceptions apply.* Please note that for change of mind returns a restocking or return fee may be charged by Winc.

^{*}Terms and Conditions apply.



2018 Book List

School Name:

International Football & Tennis School

School Year:

Stage 3

	PRODUCT	QUANTITY	PRICE (Inc GST)	TOTAL (Inc GST)
	Stage 3			
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Celco Protractor Hang Sell 10cm 180 Degrees Product code: 87172704 Unit: Set	1	\$0.58	\$0.58
— — — — — — — — — —	Tudor A4 Exercise Book 8mm Ruled 96 Page Product code: 18824929 Unit: Each	6	\$0.72	\$4.32
Bosts. SLU STIK	Bostik Glu Stik 35G Product code: 86515086 Unit: Each	2	\$1.91	\$3.82
	Quartet Whiteboard Eraser Plastic Non-Refill Non-Magnetic Product code: 86716897 Unit: Each	1	\$2.44	\$2.44
The state of the s	Quartet Non Magnetic Lap Boards 230X305mm QTLB2330 Product code: 19032496 Unit: Each	1	\$5.27	\$5.27
	Verbatim Urban Sound Kids Headphones Black/Blue Product code: 25032178 Unit: Each	1	\$25.55	\$25.55

	PRODUCT	QUANTITY	PRICE (Inc GST)	TOTAL (Inc GST)
columbia	Columbia Coloursketch Pencil Assorted Pack 12 Product code: 18841832 Unit: Pack	1	\$1.94	\$1.94
	Marbig Pencil Case Name in Assorted Colours - 325mm X 165mm Product code: 66727002 Unit: Each	1	\$2.59	\$2.59
- hand	Staples Hype Highlighter Chisel Tip 2.0-5.0mm Assorted Colours Box 5 Product code: 18680621 Unit: Set	1	\$4.33	\$4.33
Total Control of the	papermate 4 ball retractable pen Product code: 10003946 Unit: Each	2	\$2.39	\$4.78
pri .	Staples Ruler Clear Plastic 30cm Metric Product code: 73340700 Unit: Each	2	\$0.41	\$0.82
	Westcott Scissors 178mm Point Microban Blue Handle Product code: 18984376 Unit: Each	1	\$2.45	\$2.45
	Staedtler 351-Wp4 Markers Whiteboard Bullet Set 4 Product code: 86621865 Unit: Each	1	\$8.02	\$8.02
	Staples Writing Pencil Set HB Triangular With Sharpener And Eraser Product code: 18985488 Unit: Each	2	\$2.10	\$4.20

PRODUCT	QUANTITY	PRICE (Inc GST)	TOTAL (Inc GST)
Paper Mate Inkjoy 100 Ball Pen 1.0mm Black Product code: 18960576 Unit: Each	5	\$0.33	\$1.65
Paper Mate Inkjoy 100 Ball Pen 1.0mm Blue Product code: 18960577 Unit: Each	5	\$0.33	\$1.65
Paper Mate Inkjoy 100 Ball Pen 1.0mm Red Product code: 18960578 Unit: Each	5	\$0.33	\$1.65
	,	Total (Inc GST)	\$76.06